134

®PCB FIFZ0TRONICS

Model 080A200
ICP® Accelerometer

Installation and Operating Manual

For assistance with the operation of this product,
contact PCB Piezotronics, Inc.

Toll-free: 800-828-8840
24-hour SensorLine: 716-684-0001
Fax: 716-684-0987
E-mail: info@pcb.com
Web: www.pcb.com

stomet
ction
Z0TRONICS \

—,F'-‘




CPCB FIF70TRONICS

A PCB GROUP COMPANY

Warranty, Service, Repair, and
Return Policies and Instructions

The information contained in this document supersedes all similar information that

may be found elsewhere in this manual.

Total Customer Satisfaction — PCB
Piezotronics guarantees Total Customer
Satisfaction. If, at any time, for any
reason, you are not completely satisfied
with any PCB product, PCB will repair,
replace, or exchange it at no charge. You
may also choose to have your purchase
price refunded in lieu of the repair,
replacement, or exchange of the product.

Service — Due to the sophisticated nature
of the sensors and associated
instrumentation provided by PCB
Piezotronics, user servicing or repair is
not recommended and, if attempted, may
void the factory warranty. Routine
maintenance, such as the cleaning of
electrical connectors, housings, and
mounting surfaces with solutions and
techniques that will not harm the
physical material of construction, is
acceptable. Caution should be observed
to insure that liquids are not permitted to
migrate into devices that are not
hermetically sealed. Such devices should
only be wiped with a dampened cloth
and never submerged or have liquids
poured upon them.

Repair — In the event that equipment
becomes damaged or ceases to operate,
arrangements should be made to return
the equipment to PCB Piezotronics for
repair. User servicing or repair is not
recommended and, if attempted, may
void the factory warranty.

Calibration — Routine calibration of
sensors and associated instrumentation is

recommended as this helps build
confidence in measurement accuracy and
acquired data. Equipment calibration
cycles are typically established by the
users own quality regimen. When in
doubt about a calibration cycle, a good
“rule of thumb” is to recalibrate on an
annual basis. It is also good practice to
recalibrate after exposure to any severe
temperature extreme, shock, load, or
other environmental influence, or prior
to any critical test.

PCB Piezotronics maintains an I1SO-
9001 certified metrology laboratory and
offers calibration services, which are
accredited by A2LA to ISO/IEC 17025,
with full traceablility to N.L.S.T. In
addition to the normally supplied
calibration, special testing is also
available, such as: sensitivity at elevated
or cryogenic temperatures, phase
response, extended high or low
frequency response, extended range, leak
testing, hydrostatic pressure testing, and
others. For information on standard
recalibration services or special testing,
contact your local PCB Piezotronics
distributor, sales representative, or
factory customer service representative.

Returning Equipment - Following
these procedures will insure that your
returned materials are handled in the
most expedient manner. Before returning
any equipment to PCB Piezotronics,
contact your local distributor, sales
representative, or factory customer
service representative to obtain a Return



Materials Authorization (RMA)
Number. This RMA number should be
clearly marked on the outside of all
package(s) and on the packing list(s)
accompanying the shipment. A detailed
account of the nature of the problem(s)
being experienced with the equipment
should also be included inside the
package(s) containing any returned
materials.

A Purchase Order, included with the
returned materials, will expedite the
turn-around of serviced equipment. It is
recommended to include authorization
on the Purchase Order for PCB to
proceed with any repairs, as long as they
do not exceed 50% of the replacement
cost of the returned item(s). PCB will
provide a price quotation or replacement
recommendation for any item whose
repair costs would exceed 50% of
replacement cost, or any item that is not
economically feasible to repair. For
routine calibration services, the Purchase
Order should include authorization to
proceed and return at current pricing,
which can be obtained from a factory
customer service representative.

Warranty — All equipment and repair
services provided by PCB Piezotronics,
Inc. are covered by a limited warranty
against  defective material and
workmanship for a period of one year
from date of original purchase. Contact

PCB for a complete statement of our
warranty. Expendable items, such as
batteries and mounting hardware, are not
covered by warranty. Mechanical
damage to equipment due to improper
use is not covered by warranty.
Electronic circuitry failure caused by the
introduction of unregulated or improper
excitation power or electrostatic
discharge is not covered by warranty.

Contact Information - International
customers should direct all inquiries to
their local distributor or sales office. A
complete list of distributors and offices
can be found at www.pch.com.
Customers within the United States may
contact their local sales representative or
a factory customer service
representative. A complete list of sales
representatives can be found at
www.pcb.com.  Toll-free  telephone
numbers for a factory customer service
representative, in the division
responsible for this product, can be
found on the title page at the front of this
manual. Our ship to address and general
contact numbers are:

PCB Piezotronics, Inc.

3425 Walden Ave.

Depew, NY 14043 USA

Toll-free: (800) 828-8840

24-hour SensorLine*™: (716) 684-0001
Website: www.pch.com

E-mail: info@pch.com



E€Y0VL AN 'M8da( "anUBAY USplep GZve
NOISING NOLLYHEBIA

SJINO¥10Z31d HIdg

woo°qod@uoneiqiA :jley-3
988€-G89-91L :xed
1000-89-91 L :duoyd

"ol ‘dnoi9) g0d 10 Hewape.) passisibel e si gdO|

"991j0U Jnoylim suoneayoeds abueyd o] Jybu oy} a/IsSal aMm ‘JusLuBA0IdLf }NPOoId JUBJSUOD JO JS2I0)UI 8Y) Uj
‘PaYjIoads 8SIMIBYIO SSajUN 8injeiadwa] WooJ Je 818 SUOReIYIDAdS [y

[EMET B EIELITETR

LG oS-G ol-S7.-G oL TG:
Lsece Tz Saed oLSe g erq Ol S 0F LTSI v hiz ou oeL 08 05 00 06 Or
“dequunn 2adg QQ "um>oaai \vﬁ :se|eg] Y\;ﬂM\rmmEmcm_ vaﬂbuohw«cm_ 1 . 1 . . . nl-
/ f— o
(1) “(wod 9g Jaddn o} zH 0| ) @suodsas Aousnbayy s|qeadel) I SIN L-SOV [PPOW i m
(1) ¥9/6 A2% XaH 00-£298-001 9PON 0l

() smeu2s | X 2€/8 0v-2608-00} I12PON
(1) (82-v/1 01 g2-p/1) JopInoys yim ‘pmis Buunop 0zAL80 ISPON

‘SARIOSSAIDV A3AIddnS

%€ S AjjeaidAy si Anaisuas asiaasuel] [p]

‘poyiaw au| Jybiens ‘sasenbs-jsea) ‘paseq-0197 {g]
‘Aejod aaneboN [z]

‘TeadAy (1]

:S31ON

[

[1]
f1]
{1]
{1]

[1]

[¥]
[e]
[1]

ameiadwa) sa uoneiaa] Apansuas eadd)

W-N .0 g
alewad 8z-/1
Jied paisiml LED
woeo
Bnid Jexeod ge-0L
wb 072¢
W @'9E X WW £°9Z
oW Papiam
wniuey |
ieays
zuenp

ZHM(Zoos/wr) 829
ZHpAZ9s/wrl) 99/ 1
ZHNA(ZPas/wrl) 2089
ZHM(zoas/wr) Z6e' Le
089S G>
298 0°Z 0} 60
DA ZL 018
wyo oL s
Yw 0z 01 g
O0A 0€ 01 8L

ydeis) asg
Do LTI+ 0} G-
1d 2S/W 00L'86 F

%SG
%15
SW ,S/W GO0
ZHY 0L =
ZH 000'0€ 01 SE0
ZH 000'0Z 01 £°0
ZH 00001 01 |

q-¥goz
a(ewsd g2-/L
lled pajsimiL LEO
Bl
Bnid |e1xeod zg-0L
z0 99'|
UGyl XUIGo'L
JlBUWISH pPapjep
wniuey |
leays
Zyenp

ZHA/Br 49
ZHM/6M 08l
ZHAN/B Q0L
ZHA/BM 00ZE
098 G>
288 02 0160
DAAZTL 018
wyo o 5
YWw 0z 0 2
OaA 0E 01 8L

ydeig) asg
4. 062+ 0} G9-
%d 6.000'0L ¥

%G5S
% L5
swi 6 6000
ZHN 0L =
ZH 000'0€ ©1 S£°0
ZH 000'02 9} L0
ZH 000'0L 0} |

(3. Juonenag Auausuag

anbioj Bungunopy
peaiy] Bununopw
adA) 998D
yibua s|qeD
J10}03UUOY) [BOUIOD[T
(a19e0 JnoypmuyBiap
(191weIq X WbieY) 9z1S
Buleas
|leuajepy Buisnoy
Anpwosn) Bujsuag
Juswia(g Buisuag
|eaisAyd

(zHt 1)

(zH 001)

(zH 01)
(zH 1)esIoN [enoedg
(se1q 4o %01 uiypmlawt] Buines
JuejsuoD awi] ableyssig
abejjop seig Inding
aouepadw| Indino
UOlE}OXT JUSLINY JUBISUOD
abejjoA uonejox3y
[Ba11303[3
asuodsay ainjesedwsa |
(BuneisdQ)ebuey ainesadwa ]
(ooys)nwr peopsno
|ejusawuolIAuUg
AJAISUaS aslaAsuel |
Ajeaul]-uoN
(ZH 0000} 0} L)uonnjosay puegpeoiq
Aouanbai4 jueuosay

(gpe ¥
(% 0L %)

(9% G F)abuey Aouanbaig

‘pasn aq Aew uofdo suo ueLl} 210 ‘MOjaq Pjou aIaym Jdaoxa 3d ,s/W G068 F ¥d 6 0os ¥ abuey Juswainseapy
[9POW PIBpUE]S 3y} Jo} Pa)s]| Se SLI0SSAIDE PUE SUONEJLIOAdS [EIRUSP! 9ARY SUOISIaA leuondO | [7] (zS/W)/AW 20'L B/Aw QL (% 01 F)AAnsuesg
SNOISY3A TVNOILJO s HSITON3 ajuewIOUad
9E0€EE # NO3 002v080
yoswey AI1FNOUITIOIV @dOI Mt




4 3 | 2 l L
o fne informaton disciosed heroon. Nefthe  nor any REVISIONS
O) | thout the witen consent of P8 biezotonies nc. REV DESCRIPTION DIN
>'< STANDARD STUD MOUNT P UPDATE DRAWING 25686
<
>< —T—
> A B e o
— 5-40 M3 X 0.50 10-32 M5 X 0.80
o0 SENSOR MOUNTING INSTRUCTIONS MOUNTING INSTRUCTIONS MOUNTING INSTRUCTIONS MOUNTING INSTRUCTIONS
o | / (METRIC DIMENSIONS IN BRACKETS) (ENGLISH DIMENSIONS IN BRACKETS) (METRIC DIMENSIONS IN BRACKETS) (ENGLISH DIMENSIONS IN BRACKETS)
| l I | I I
N i !
SENSOR THREAD— . | L |
— A" —a
SENSOR
SENSOR THREAD
i THREAD "X MOUNTING HOLE PREPARATION: MOUNTING HOLE PREPARATION: MOUNTING HOLE PREPARATION: MOUNTING HOLE PREPARATION:
l @.101[@2.57] @2.5[.099] @.159[@4.04] @4.22[P.166]
} MOUNTING X .20[5.1]¥ MIN. X 4.6 [1.8]¥ MIN. X .23[5.8]V MIN. X 7.62 [.300]¥ MIN.
e READ { HOUNTING 5-40 UNG-2B M3 X 0.50-6H 10-32 UNF-2B M5 X 0.8-6H
THREAD X .15[3.8]¥ MIN. X 3.3[.13]¥ MIN. X .15[3.8]¥ MIN. X 5.08[.200]¥ MIN.
MOUNTING THREAD | SEE DRAWING )
540 A 4.) RECOMMENDED MOUNTING TORQUE, 4.) RECOMMENDED MOUNTING TORQUE, 4.) RECOMMENDED MOUNTING TORQUE,
M3 X 0.50 B 4) R_ECOMMENDED MOUNTING TORQUE, 45.55 NEWTON CENTIMETERS 10-20 INCH POUNDS 113-225 NEWTON CENTIMETERS
10-32 c 45 INCH POUNDS [113-225 NEWTON CENTIMETERS] [10-20 INCH POUNDS].
M5 X 0.80 ) [45-55 NEWTON CENTIMETERS]. [4-5 INCH POUNDS]. :
1/4-28 E
M6 X 1.00 F
INTEGRAL STUD MOUNT "THRU-BOLT" STUD MOUNT £ F e
1/4-28 M6 X 0.75, M6 X 1.00, M8 X 1.25 MOUNTING INSTRUCTIONS
MOUNTING INSTRUCTIONS MOUNTING INSTRUCTIONS FOR SPECIAL THREAD LENGTHS
"THRU-BOLT" (METRIC DIMENSIONS IN BRACKETS) (ENGLISH DIMENSIONS IN BRACKETS) (METRIC DIMENSIONS IN BRACKETS)

SENSOR\

=

)
g

SENSOR
\ |

f

1 11

LZ&

Lj&

M6 X 0.75

MOUNTING HOLE PREPARATION:
@5.31[.209]

X 7.62 [.300]% MIN.

M6 X 0.75-6H

X 5.08[.200]% MIN.

C * |
T T
l v

4

INTEGRAL i__ :
MOUNTING MOUNTING HOLE PREPARATION: MOUNTING HOLE PREPARATION:
ppSP— M6 X 1.0 M8 X 1.25 N /| 4 DRILL DIA.
STUD ~— A o MOUNTING HOLE PREPARATION: ~ MOUNTING HOLE PREPARATION: | /| V| XCT MIN.
MOUNTNG THREAD| SEE DRAWING 1a 28[U.NF]ZB ' @5.05[@.199] #6.75[@.266] 1 THREAD PITCH TAP
5-40 A BOLT THREAD | SEE DRAWING 2' i X 8.10 [.320]¥ MIN. X 8.64 [.340]¥ MIN. SHOWN X BT MIN.
VB X 0.50 B Msl(;%zso g % 200[5-0817 ML MGX 1.0-6H M8 X 1.25-6H THREAD DEPTH : B= X + 1 THREAD PITCH
10-32 C - X 6.35[.250]% MIN. X 5.00[.197]% MIN. BEAE
VE X 0.60 5 17428 E 4.) RECOMMENDED MOUNTING TORQUE, [-250] [197] DRILL DEPTH : C= B + 3 THREAD PITCH
/428 £ N6 X 1.00 F 25 FOOT POUNDS 4.) RECOMMENDED MOUNTING TORQUE, SEE AF FOR APPROPRIATE DRILL AND TAP
N6 X 1.00 F M8 X 1.25 F [3-7 NEWTON METERS]. 3-7 NEWTON METERS [2-5 FT POUNDS]. THREAD PITCH= 1/TPI [P]
UNLESS OTHERWISE SPECIFIED TOLERANCES ARE: DRAWN CHECKED ENGINEER -
DIMENSIONS IN INCHES DIMEN[SIISNBEX\(I:I}\(/IEI#EI;\/IETERS JDM 3/9/07 ECcB 2/9/07 1D 2/9/07 ng Hfmmﬂ
3) FORBEST RESULTS, PLACE A THIN LAYER OF SILICONE GREASE (OR EQUIVALENT) ON INTERFACE PRIOR DECIMALS XX 401 DECIMALS X £0.3 e 3425 WALDEN AVE. DEPEW, NY 14043
TO MOUNTING. XXX +.005 XX +0.13 (716) 684-0001 E-MAIL: Sales@pCb.Com
63[1.61] INSTALLATION DRAWING
[> MOUNTING SURFACE SHOULD BE FLAT TO WITHIN .001(0.03) TIR OVER DIM ‘A’ WITH A OR BETTER FINISH FOR BEST RESULTS. ANGLES + 2 DEGREES ANGLES + 2 DEGREES S [STRS)
FOR STANDARD oo 081-XXXX-90
081 SERIES MOUNTING 52681
[> DRILL PERPENDICULAR TO MOUNTING SURFACE TO WITHIN £ 1", FILLETS AND RADII FILLETS AND RADII
.003 - .005 0.07-0.13 SCALE: N.T.S. | SHEET 1OF1
3 | 2 I 1




